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HI$L | 1% 2% 3% 4% 5% 6% 7% 8% 9% 10%

1 0.9901 0.9804 | 0.9709 |0.9615 | 0.9524 |0.9434 |0.9346 0.9259 | 0.9174 0.9091
2 1.9704 |1.9416 | 1.9135 | 1.8861 |1.8594 | 1.8334 | 1.808 1.7833 | 1.7591 1.7355
3 2.941 2.8839 | 2.8286 |2.7751 | 2.7232 | 2.673 2.6243 2.5771 | 2.5313 2.4869
4 3.902 3.8077 | 3.7171 3.6299 | 3.546 3.4651 3.3872 3.3121 | 3.2397 3.1699
5 4.8534 |14.7135 |4.5797 |4.4518 |4.3295 | 4.2124 |4.1002 3.9927 | 3.8897 3.7908
6 5.7955 5.6014 | 5.4172 |5.2421 | 5.0757 | 4.9173 | 4.7665 4.6229 | 4.4859 4.3553
7 6.7282 |6.472 6.2303 6.0021 | 5.7864 | 5.5824 5.3893 5.,2064 | 5.033 4.8684
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P=A*(P/A,i,n)*(1+i)
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P=AX (P/A, i, n) X (1+1i) =10X (P/A, 5%, 6)
X (14+5%) =10X5.0757X1.05=53.29 (HIT)
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(O] (20235) 241 (P/A, 8%, 5) =3.9927, (
P/A, 8%6) =4.6229, (P/A, 8%, 7) =5.2064, W6 EH]. #r
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A. 2.9927
B. 4. 206
C. 4. 9927
D. 4.1235
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, 6-1) +1= (P/A, 8%5) +1=3.9927+1=4.9927.
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